PD-188 CV-19

M.Com. (First Semester)
Examination, Dec.-2020
Paper- Ill
Name/Title of Paper- Management Accounting [Maximum Marks : B0
Time : Three Hours] [Minimum Pass Marks :
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Note : Answer from both the Sections as directed. The figures in the right-hand margin indicate marks.

U/ Section-A
1. Frafafeg it @y Sady geel @ Iar 9 — 1x10=10
Answer the following very short-answer type questions:-
(@) Wy PSP BBl BT AH A |
Write a name of tools of Management Accounting.
(b) v A@iHT B J7 Frien B Ry
Write the two limitations of Management Accounting.
(c) SwERE = 391 8¢
What is Responsibility center?
(d) uferg &= Fr 87
What is the Cost center?
(e) ToifeT 9 3y war THSIY &7
What do you understand by Budgeting,
{f) Rer wore 3R R T9c § 747 3R/W 27
What is the difference between fixed budget and flexible budget ?
(g) wam wa fifr @ & SXw faRaR |
Write two objective of standard casting.
(h) TEIT NS DREIEE UG gorest FraEr # ww o ausEd
Explain the main difference between standard casting and Budgetary contrel.
(i) e < 4 §7
What is margin of Safety?
() ferET 3k @™ A T SR 27
What is the difference between contribution and profit?
2. Pr=fefea gol @ widw S df- 2x5=10
Answer the followmg questions m brief:-
(@) YEUPR RAIP Td TG A@IGA BT SR Biford |
Ciearly distinguish “Management Accounting” from “Cost Accounting”
{b) =TT I T4 STRAIfIE B § sfav fafeg |
Difference between cost center and Responsibility center.
(¢) Rer aole vd dMEeR gofc § @7 iR 77
What is the difference between ‘Fixed Budget’ and “Flexible Budget?
{d) v wrE Al @ et @ ke |
Write the limitation of standard costing.
(e) T, =TaT, oI e P GHEE |
Explain the Cost, Volume, Profit relationship.
g / Section-B 12x5=60
frfafeg gt & v IR

Answer the following question.

@18 / Unit-1
3, VEUS S | AT T Een 87 39e Ui &9 B wawigd aun foie § g
oAy 3 e e B |
Ferdr/OR

* T ©F IEm N qfe fearerear § 9ERS 8 (© 39 HUF DI WA BT |
$T18 / Unit-11
4, ST B AR B e HRA | A FE B o PF | 9 ol 9 87
Explain the concept of Responsibility accounting? what steps are being taken for introducing it?
391/ OR

TF Baed) § T X @ A g BR GuR & 8 fame Rafe feaa 8-




The following is a cantrol report prepared by a cost Accountant of department ‘x” in a factory:-

e AT (Direct Material) 7,500
Ta& 58 (Direct Labor) 5,000
e &g (Direct Expense) 2,000
e |WAT (Indirect Material) 1,250
WA 59 (Indirect Charges) 750
IferEma s (Overtime Charges ) 250
Ll (Depriction) 1,500
18,250
AT HRETT JURE™ (Allocated Factory Overheads) 12,500
IARA T | R A9d W amEfea SufRar (Allocated Overheads of Repairs Relating
to Producation Department) 7,500
FETET U4 GTEA® SUREy (Office and Administration Overhands ) 10,000
48,250
Unit-II1

FoIC goled Al gored A= &) gREiita o | goed A= yomell #) awer o
Tl W) R w27 ST 99 iR )
Define Budget, Budgeting and Budgetary control discuss the elements on which success of
budgetary control system depends.

@1,/ OR
T fraiolt Heer S awar 20,000 531 9fd af 81 o o@fy @ o 10,000 sHEA B
IURA R Joics @9 g ) 1 B—
A manufacturing concern has the production capacity of 20,000 vnits per annuam. The expenses
budgeted for 10,000 units for a period are listed below:-

Per Units
£
Materials 40
Wages (50% Variable) 20
Manufacturing Expenses (40% Fixed) 10
Administrative Expenses (All Fixed) 5
Selling & Distribution Expenses (60% Fixed) -
Total Cost 20
Profit 20
Selling Price %._100_

B B 70% T 100% TR B! UM Y TF AT qoic FAR AR | T8 A & B e
afd gp1s w1 T & 60% TP T I, IS 915 B KR & 90% TF TG 5
UfIer @l I 3 e 21 90% B HUX WA H AT 5% P I W q F 21/2% B
T BN o SEn 2

Prepare fixable budget two show 70% and 100% levels of activity It is expected that the present unit
selling price will remain constant upto 60% activity beyond which a 5% reduction is contemplated
upto 90% activity level. Above 90% a  21/29% reduction in original price is contemplated for every

5% increases in volume.
518 / Unit-IV
. AN g fafer ok awie Fgaw § ofar Fifol | R wfed 99sIEY 6 @ ofehfie
e 3 yarg erra Ay & s arfea?
Distinguish between “standerd costing and Budgetary control *’Explain with reasons why an
industrial concern should introduce standard costing system.
312 s OR
=1 el | @t s fwRel &Y o i
From the following data calculate all Labour Variances:
Standard
Grade A S0 workers @ Rs, 2 per hour
Grade B 60 workers @ Rs. 3 per hour
Budgeted Hours per worker 100 hours
Standard production 4,000 units
Actual
Grade A 80 workers @ Rs. 2,50 per hour
Grade B 70 workers @ Rs. 2,00 per hour
Actual Hours per worker 90 hours
Actual production 4,200 units




§§!§ /Unit-IV

7. gl W e folg § deia ara @) g it 27 39 vl @ paifaa e 9 e

BRP! B f{FgeeT ff SR |
What is the role of marginal costing in the decision of “make or Boy”? Discuss the other factory
also which effect this decision.
I /OR
i fo, & fAffafafee e afer Suasy 8-

Following records are available from the accounting records of Praveen Ltd:-

Sales Profit/Loss
Year (.} (®.)
2013-14 25,000 5,000 (Loss)
2014-15 75,000 5,000 {Profit)

B BIRAT (Find Out):-

1. TM¥—HTAT UIT {P/V Ratio)

2- Wl ST (Fixed Cost)

3- ¥ 2013—14 TG 2014—15 D ¢ Graid T (Marginal Cost for 2013-14 and 2014-15)
3- ¥ faess &g (B.E.P.)

5- 10,000 ®. ® o D fTQ e H A (Margin of Safety for the Profit of Rs.10,000)



